

Date:

Sub:

(100, 100)

$$a_n = \frac{1}{r}, 1, r, \dots$$

$$a_{10} = a_1 r^9 = \frac{1}{r} \times r^9 = r^8 \quad (1)$$

$$r = \frac{1}{\frac{1}{r}} = r$$

$$\frac{a_{10}}{a_1} = \frac{a_1 r^9}{a_1} = r^9 = (10) \quad (2)$$

$$a_1, a_r, a_{10} \rightarrow a_{10} = a_1 r^9 = \frac{1}{r} \times r^9 = r^8 \quad (3)$$

$$a_n = a_1 r^{n-1} = \frac{1}{r} r^{n-1} = r^{n-2} = 10 \quad (4)$$

$$n - 2 = 0$$

$$n = 2$$

$$a_0 = a_1 r^1 = 10 \quad a_1 = a_1 r^0 = 10$$

$$a_{10} = a_1 r^9 = \frac{1}{r} \times r^9 = r^8 = 10$$

$$\frac{a_n}{a_0} = \frac{a_1 r^n}{a_1 r^0} = r^n = \frac{10}{10} = 1$$

$$r = 1, a_1 = \frac{1}{r}$$

$$(10)$$

$$a_1 \times a_2 \times a_3 \times a_4 \times a_5 = 1000 = 10^3$$

$$(a_1 r)^4 = 10^3$$

$$(a_1 r)^4 \Rightarrow (a_1 r)^0 = 10^3 \quad (a_1 r)^4 = 10^3 \quad (1)$$

$$a_1 \times a_5 = a_1 \cdot a_5 = 10 \quad (2)$$

$$\leftarrow (1)$$

$$b^r = ac \Rightarrow (r\sqrt{r})^r = r^a \times r^b \quad a + b = 0 \quad c = \frac{a+b}{r} = \frac{0}{r} = 0$$

$$b^r = ac \quad x^r = (x+1)(1-x)$$

$$x^r = 1 - x^r \quad r x^r = 1 \quad x = \pm \sqrt{\frac{1}{r}} = \pm \frac{\sqrt{r}}{r}$$

(10)

Date:

Sub:

J 30, b

$$\begin{aligned}
 & \left. \begin{aligned} t_1 + t_2 &= 11 \\ t_1 r^2 + t_2 &= 11 \\ t_1 + t_2 &= 11 \\ t_1 r^2 + t_2 r &= 11 \end{aligned} \right\} \begin{aligned} t_1 (r^2 - 1) &= 0 \\ t_1 (r^2 + 1)(r+1) &= 0 \Rightarrow \frac{11}{r} (r^2 + 1) \cdot 0 \Rightarrow 11r^2 - 0 \cdot r + 11 = 0 \\ \Rightarrow r^2 - 1 &= 0 \Rightarrow r = \frac{1 \pm 1}{2} = 1, 0 \end{aligned} \end{aligned}$$

$t_1 = 20$
 $t_1 r^2 + t_2 r = 11 \Rightarrow t_1 r(r+1) = 11 \Rightarrow t_1 (r+1) = \frac{11}{r}$
 $t_1 r(r+1) = 11 \Rightarrow t_1 (r+1) = \frac{11}{r}$
 $a_1 = 1 \times 1 = 1$

$$a_1 + aq + aq^2 = 11 \quad \frac{1}{q} + 1 + 1q = 11 \Rightarrow q^2 - 10q + 1 = 0$$

$$a_1 \cdot aq \cdot aq^2 = 11 \Rightarrow aq = a_2 = 11$$

$$a_1, a_2, a_3 \rightarrow 1, 11, 1$$

$$\text{if } q = 1 \rightarrow 1, 11, 1, \dots$$

$$\text{if } q = \frac{1}{11} \rightarrow 1, 11, 1, \dots$$

$$a_n = 1, 11, 1, \dots$$

$$S_{10} = 1 \times \left(\frac{1^{10} - 1}{1 - 1} \right) = 1^{10} - 1 = 0$$

$$P_{10} = (1 \times 1 \times 1)^{10} = 1^{10} = 1$$

$$a_{10} = 1 \times 1$$

$$a, aq, aq^2, aq^3, \dots$$

$$a - aq, (aq^2 - aq^3), aq^4 - aq^5, \dots$$

$$a(1-q), aq(1-q), aq^2(1-q), \dots \leftarrow \text{نصف من الـ } (1-q)$$

$$b^2 = ac$$

$$a^2 q^2 - 2a^2 q^3 + a^2 q^4 = a^2 q^2 - 2a^2 q^3 + a^2 q^4$$

Date:

Sub:

المسألة ١١

$$\lim_{n \rightarrow \infty} \frac{aq(1-q)}{a(1-q)} = q$$

الحل

$$S_n = a_1 + a_1d + a_1d^2 + a_1d^3 \dots a_1 + (n-1)d \quad (1)$$

$$a_1(1+d+1^2d+1^3d \dots 1 + (n-1)d)$$

$$a_1n + d(1+1^2+1^3 \dots + n-1) = \frac{(n-1)n}{2}$$

$$\frac{1 \cdot n}{2} + d \frac{(n-1)n}{2}$$

$$\frac{n(a_1 + (n-1)d)}{2}$$

الحل

$$r(S_n = a_1 + a_1r + a_1r^2 + \dots + a_1r^{n-1})$$

(2)

$$rS_n - S_n = (a_1r + a_1r^2 + a_1r^3 \dots a_1r^n) - (a_1 + a_1r + \dots + a_1r^{n-1})$$

$$S_n(r-1) = a_1(r^n - 1)$$

$$S_n = a_1 \left(\frac{r^n - 1}{r - 1} \right)$$